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QUESTION 1

Which two statements are true about TIBCO BusinessEvents agents? (Choose two.)
A. Multiple Inference agents can be run in a single Processing Unit.

B. Inference agents and Cache agents can co-exist in a Processing Unit.

C. A Processing Unit containing a Cache agent acts as a cache server.

D. A rule in one Processing Unit cannot trigger a rule in a different Processing Unit.

Correct Answer: AC

QUESTION 2

Which object management type should be used when cachelLoadconceptByld () has been defined explicitly to load

objects?

A. In-memory

B. Cache only

C. Cache + Memory
D. Berkeley DB

Correct Answer: B

QUESTION 3

Which three statements are true about the TIBCO BusinessEvents Monitoring and Management
A. TIBCO Hawk is required for monitoring of machine level metrics.

B. COPSSH is required for monitoring of machine level metrics.

C. Memory-based object management is supported.

D. Cache-based object management is required.

E. Monitored agents and nodes must belong to the same cluster.

F. Monitored agents and nodes can belong to different clusters.

Correct Answer: ABD

QUESTION 4
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Which two statements are true about In-memory and Cache object management (OM) types? (Choose Two.)
A. Cache OM supports Partitioning; In-memory OM does not.

B. Cache OM supports Clustering; In-memory OM does not.

C. Both Cache and In-memory OM support Fault Tolerance.

D. Both Cache and In-memory OM support Data Recovery.

Correct Answer: AB

QUESTION 5

Which three are required to enable database concepts at runtime? (Choose three.)
A. Check the Enable Database Concepts in the Processing Unit\\'s configuration
B. Setup JDBC datasource in the BE runtime JNDI directory

C. Provide the default database concepts JDBC resource in agent class definition
D. Add the JDBC resource to cluster descriptor\\'s Database URIs

E. Assign the connection at runtime using Database.setCurrentConnection ()

Correct Answer: ADE
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